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FIE M Y-k (&) AMEHABEZEDESY 13. 14| m3
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I8$7-B350 x H100 x T90
<flET>
BHAERAZE B500 xH700 (EER) 1.0 1| &/ |L=12.6m
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I 5 @ 8| = % ) st metme | Be B
Ba T
<$BHBEBERI>
SEEERI 0y — A% ER A ZTEDELY 2.4 2l m
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TSR (EE - BELS |[BEI79v45Y (RC-30)t=20cm |BIMAEZDEEY 201. 202] m?2
<HEESHET (FRAAZAZIZH > -
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HIT® 1.0 1| &FR
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ATy7 £
7" LivAME K B600 x L400 x H800 (&T-25) |RI#EAEEZDEHY 1.0 1| &R
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HERRBRE TIE® AEHEHEE 115 12| m
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HERRRE EEERO AEBEHHEE 1.0 1] m
HERWRE EEEHQ AEBESEE 13 7] m
HERRRE REEEQ MM EE 2.2 2] m
HERRRE REERD AliEBEEE 2.8 3] m
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X| 2 FR
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t= 50 mm
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HiEEWHAEKERER (BHE®D)

N 5 oA S S 2 B M
z 7 ) — b () ! BB K W600 X H550 m3 0.18
WL 1 | BUGFTKBE W250 X H400 ' m3 3.22
(2. 35t/m3) 5 BT KR W700 X H600 m3 0.32
6 AFEAKEE . W400 m3 0.84
7 TR IR W300 m3 0.74
8 FIREE: S W150 m3 0.48
14 M7 U—F t150 m3 0.24
22 BUEFT A B W350 X H530 my 217
At m3 8.19
ayvy Y — k(i) 2 (B HP ¢ 600 m3 9, 52
B L 3 31 W1000 X H800 m3 2. 67
(2. 50t/m3) 10 PRI W1100X 1800 100 m3 0.09
11 DRAR W900 X L1000 120 m3 0.76
12 KRR W1000 X L1600 t100 m3 0.48
13 PRIR W900 X 1.1000 100 ; m3 0.09
aEt m3 13. 61
a7 J— byl 1 BLEFT K £150 m 0.80
13 PRAR . t100 Lom 1. 00
14 +M=r 7 ) —t 150 m 3.20
22 RAGHTKEE W350 X H530 m 6. 00
Et m 11. 00
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&3 40kg/WLLF ¥ 4. 00

A0% B2 170ke/BLLTF ® 5.00
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BE 6 AFEKEE WA00 X H700 = 20.9 m

>-\ 400
( ] o
o
(| 7
e
[=)
S| (
~
YN #t B I\ HAr| &
A V= 0.350 X 0.900 X 20.90 = 6.584 m3 6.58
s L
a7 U—hk |v= 0.400 X 0.100 X 20.90 = 0.836 m3 0.84

(HA7) Mud L




o 27.3

300

:
L

™ .\
— ; =4
I
K FR Ha H P2V HA7| B
oy U—/b v=((0.130 + 0.050 )/ 2 X 0.300 )X 27.300 = 0.737 m3 0.74
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<
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L. » .
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2R &t B = ALl B
arf V= 0.250 X 0.150 X 10.70 = 0.401 m3 0. 40
e L
a7 Y—hk [V= 0.150 X 0.300 X 10.70 = (.482 m3 0.48
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'\ —— o
L _ -
221 i B =5 BAr| Bk
AabF V= 0.150 X 0.150 X 16. 60 = 0.374 m3 0. 37
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H # & # #H &' %
Ee 10 PRER W1100XL800 £100 HE |10 f
G2 il B 2N EAVAE:S
a7 J—F V=" 1.100 X 0.100 X 0.80 X 1 = 0.088 m3 0.09
(1) B L

ayvy J—k#E
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(B /) BuE L

avy V— L&
a7 ) — Ryl L= m 1. 00
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H % & %

%llal[
mt
Rt

t=150

%5 14 TV —Fh HE 1.6 m2
£ Fp H =1 z\ HAor| &
Tz U—KvVv= 0.150 X 1.6 m = 0.240 m3 0.24
(e ) Hdgs L
t= 150 mm
ayvy y— | L= m 3.20




H # &

2

'R

*B- 19 $AR W900 X L900 t4.5 BE 1.0 58

&R #t =1 = Wiy BE

- B W= 0.900 X 0.900 X 36.69 = 29.719 kg 29.72
W t=4.5mm |BEEE 36, 69kg/m2

M 1.00




H # & %

G

HE 20 SHAR  W400XL900 t8 3.0 75'e
AR &t A = HAr| BE
ERE W= 0.400 X 0.900 X 64.16 X 3 = 69.293 | kg 69. 29

HEatR t=8.0mm | EER 64. 16kg/m2
boa 3.00




H # & % W & X

&R 21 $fAR W900 X L900 t8 by 5.0 58
2 s =1 = FEAE- S
ERiE W= 0.900 X 0.900 X 64.16 X 5 = 259.848 | kg | 259.85

WG t=8.0mm |BEZEE 64. 16kg/m2
b'a 5. 00




H & & ¥ W A =R

= BB FIKEE ! :
EE 22 350 X H530 & 6.0 m
150 200
350
x ot
o |
™
(K]
=
350 | 500
400" ’

N ) -1 = Bfr| B
ayZ7U—*F [v=(0.100 X 1.250 + 0.120 X 0.350 ) X 6.00 = 1.002 n3 1.00
(e Mg L (0.200 + 0.4 )=* 0.65 =2 X 6,00 = 1.170 m3 1. 17

= 2.17
a7 Y — M| L= m 6. 00

t=150'




+t T % &= £ i X

ZZI % R T 0 " K AR - G- R

A F—=FH v b 46.6 + 44.8 = m3 91.4
N W<1.0 | | - m
PR 1.LOSW<2.5 | =1 m3 |
B AR L 4. 0=W = md
HERE R 1 W<1.0 = md

PR 1.OSW<2.0 63.4 + 225 1+ 6.6 - m3 925

B W<1.0 32,0 1+ 147 + 4.4 = m3 5Ll

HER 1.0=SW<4.0 9.5 = m3 9.5
FAV-2" 2.9 | = m3 2.9
B HEE W<1.0 = m3

Vs U] 91.4 +° 92.5 - b51.1 - 9.5 = m3 123.3

ey UR 15.3 + 50.7 = m2 66.0




NO. 1

t T % B

HE B

H AR Z AR
HEH| Bk BEREE L 30N BERERE + IRYE
(GF—FrH o b W<1.0 1.OSW<2.5 (4.0=W) W<1.0 1.OSW<2.0
B | E= 5 ‘/ ) (E{Zﬁ’ﬂ) : 5 - 5 (wj) : 2 —
WTE AR W AR~ W iE C o g | wrE C o k| W I W R~
Wi | i i o b W W i (573}
4+33. 8 1.1 3.1
4+40. 015 6. 215 1.1 1.10 6.8 3.1 3.10 19. 3| #l4+40
4+44, 883 4. 868 4.2 2.65 12.9 4.3 3.70 18.0| #IEP
4+49. 996 5.113 4.2 4.20 21.5 4.3 4. 30 22.0
4+49. 996 0.4 2.30 0.3 2.30
4+57.5 7.504 0.4 0.40 3.0 0.3_ 0. 30 2. 3| #l2+60
4+63. 5 6. 000 0.4 0.40 2.4 0.3 0. 30 1.8
0.20] 0.15
& &t 29. 700 46.6 63.4




NO. 2 - T ¥ & FH B =
HR R B AR BELE REAN-A
. (W<1.0) (1.0ZW<4.0) W<1.0)
B, =IE EHy ] ¥ iy ¥y Ty =
W R~ C | wE S B | ZE C ¥ | £R C o | zE C ¥
T U T W IR TR ER
4+33. 8 1.2 1.1
4+40. 015 6.215 1.2 1.20 7.5 L1 1.10 6.8 Hl4+40
4+44, 883 4. 868 2.5 1.85 9.0 0.55 2.7 3.0 HIEP
4+49. 996 5.113 2.5 2. 50% 12.8 3.0 3.00 15.3
4+49. 996 0.2 1.35 1. 50
4+57.5 7.504 0.2 0.20 1.5 H2+60
4+63. 5 6. 000 0.2 0.20 1.2
0.10
& F 29. 700 32.0 9.5 15.3




% B = refs
NO. 3 j: I ﬁ B l:fI‘ ﬁ- % FHAZAIES
HEH BRRRE L AR+ MR BERERE + PRI
ALE B (T*jng v B (W;;O) (1. oiwtgz. 5) (4£;w) (w;;.jo) (1. oiv;z. 0) -
=] - =% | wE o = | HE o = | WE - = | HE - B | Wi - (EN-
A0+9.5 1.1 0.7
A0+11.0 1. 500 L1 110 117 0.7  0.70 1.1
A0+16.231 | 5.231 0.9  1.00 5.2 0.7 o 70| 3.7| ABC.1
A0+20 3.769 0.7  0.80 3.0 0.6  0.65 2.4
A0+22 2. 000 0.7, 0.70 1.4 0.6  0.60 1.2
A0+22 1.4 1.05 1.4 1.00
A0+26. 0 4. 000 1.4  1.40 5.6 1.4 1.40 5.6
A0+30. 0 4.000 3.4 2.40, 9.6 0.8 1.10 4.4
A0+35. 0 5. 000 2.4 2,90 14.5 0.5  0.65 3.3
A0+36. 6 1. 600 2.4 2.40 3.8 0.5  0.50 0.8
1.20 0.25
& 27.100 44.8 22.5




N = = .
NO. 4 + I #H & 7 H & FHAZAISS
B R BAER 2R AE FOAN-2
. .O=W<4. <1.
Gl e (w;is()) , . 0$Ww4 - (qu;vO) iy ¥ T =
WiE o ik | wrE = g | Wi e g | EE i % | wE = Hg | EE g Tk
A0+9. 5 0.6 0.5
A0+11.0 1. 500 0.6 0.60 0.9 0.5 0.50 0.8
A0+16. 231 5.231 0.6 0.60 3.1 0.5 0.50 2.6 ABC. 1
A0+20 3.769 0 4 0. 50 1.9 0.6 0.55 2.1
A0+22 2.000 0.4 0. 40: .8 0.6 0. 60 1.2
A0+22 0.9 0. 65 2.0 1.30 0.2
40+26. 0 4. 000 0.9 0. 90! 3.6 2.0 2.00 8.0 0.2 0. 20 0.8
A0+30.0 4. 000 0.4 0.65; 2.6 3.1 2.55 10. 2 0. 2. 0.20 0.8
A0+35.0 5. 000 0.2 0. 30 1.5 4.4 3.75 18.8 0.2 0.20 1.0
A0+36. 6 1. 600 0.2 0. 20 0.3 4.4 4. 40 7.0 0.2 0.20 0.3
0.10 2.20 0.10
& § 27.100 14.7 E:(;T 2.9




BEEY L TEREESE
oA e T oA

= ANO. 0+21. 952 (ASP. 1)

i I

EHR A EE

o THRREES

KRiE R 1.2 m2
_ W<1.0° 0.8 m2
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